Name:___________________________________________________ Class:_______________

Greatest Common Factor, GCF
Learning Target: I can find the GCF of two ore more whole numbers.
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When asked to find the greatest common factor of two or more numbers you are looking for the BIGGEST factor that two or more numbers share.

Factors break numbers down evenly.
A number’s factors will always be LESS THAN or EQUAL to the given number.

Example:

Listing the factor pairs.  Find the GCF of 16 and 20

(1) List the factor pairs of each given number

16: 1 x 16, 2 x 8, and 4 x 4

20: 1 x 20, 2 x 10, 4 x 5
· If you look at the factors of 16 you see that 16 is the biggest factor (16 = 16), and then ALL of the other factors are smaller than 16.

(2) Compare the lists.

The factors that 16 and 20 share are: 1, 2 and 4.  Of those common factors, 4 is the greatest.

Example:

Creating a table. Find the GCF of 32 & 48:

	32
	48

	1 x 32
	1 x 42

	2 x 16
	2 x 24

	4 x 8
	3 x 16

	
	4 x 12

	
	6 x 8


(1) List all of the factor pairs in the table

(2) Identify the factors that they have in common: 1, 2, 4, 16

(3) Identify the LARGEST or GREATEST factor that they have in common: The GCF of 32 and 48 is 16.

Example:
Factor Rainbow. Find the GCF of 30 and 45
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(1) List all of the factors in order from least to greatest, connecting the factor pairs with an arched line.

(2) Identify the factors that the numbers have in common.  30 and 45 share 1, 3, 4, and 15.

(3) Identify the largest or greatest factor that they share.  The GCF of 30 and 45 is 15.
Example:
“L Method”
(1) Write both numbers next to each other and draw an “L” around them

(2) Identify ANY factor that both numbers share **Does not have to be the GCF

(3) Write the quotients underneath the L

(4) Repeat steps 2 and 3 until the two numbers inside the L do not share any more factors

(5) Multiply the numbers on the left side.
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Find the GCF of 72 and 120.

(1) Divide 72 and 120 by common factors until you are 

left with 2 numbers that do not share a common factor larger

than 1.

(2) Multiply 2 x 2 x 2 x 3

(3) The GCF of 72 and 120 is 24

